8.56-2.861-355=] |-355=] |

® 5.599, 2.049 @5.699, 2.149 ® 5.599, 2.149

@ 5.699, 2.140 ® 5.689, 2.049

8.56 — 2.861 — 3.55 = 5.699 — 3.55 = 2.149




2. oSS EEA AR e LEAL.

(1) 548 +27.9 (2) 12-1.281

@ (1) 33.37 (2) 10.729 (@)(1) 33.38 (2) 10.719
@ (1) 33.27 (2) 10.729 @ (1) 33.28 (2) 10.719

® (1) 34.38 (2) 10.729

(1) 5.48 4+ 27.9 = 33.38
(2) 12 - 1.281 = 10.719




877-237-198=[ |-198=

@D 6.04, 4.02 @ 6.04, 4.42 ® 6.4, 4.02
@6.4, 4.42 ® 6.4, 4.52

8.77-237-198=6.4—-1.98 =442




4. 18R &5 A A= 5 F A 2 $E00.02 24 4 ot

QU742

>

> = 0.979

| 8ok Ak 2% A 24 5 F 7 2 S 0.999 AUk
0999 50} 0.02 2H2 - Ak B A2 £} 2 2 ol

2 0.979 44t




2AQ,

tlo
K

[ ]erl ggte 22 a2

i

A

i
M

12307914 32 [ Jol A, 02 [ o Ae, 7
EEREEEEpEiy

® 0.1,01,0.1 @ 0.1,0.01,0.01
@0.1 ,0.01,0.001 @ 0.001, 0.01, 0.001

® 0.001, 0.001 , 0.001

B

1_
L ~419] 22

1
|
1




thS B7)eF o] [ |etol Qe 22 AR AN YL o]
AJY7t?
2.875 = 2 + 0.8 + 0.07 4 0.005
47.85 =40 + 7 +| |+ |
@ 8,5 ® 8,05 @ 8,0.05
@ 0.8,0.5 ®)0.8,0.05

47.85 =40+ 7+ 0.8+ 0.05




weba o] X 1} 1.064m A7) 7HA T gy 9ol A m

YA ol= A Hlo|LE 8.053m 7HA AL 1AL, WA o] LE
=]
S g Hjo|moh W7k glo] Lo ol E m Q1A Al L.

=i m

>
> ®e 15.042m




85L E0] BE=6.429L o] Bo] E0] 911, 10.5L E0] X
8340mL ¢] o] 5] FUH. F 5 E2 /IS5 godH, iF
9 L 9] Bo| ¢ " Q3HA] FoHr L

» E: L

[> ®eh: 4.231L

~&B ‘

8.5 — 6.429 = 2.071(L)

8340mL — 8.34L

10.5 - 8.34 = 2.16( L)

(6 Hast 29| )= 2.071 +2.16 = 4.231(L)




[ ] ool gure 2 2 A 7 S LEAQ.

(1) 13.7m + 116cm = |m
(2) 28cm + 2.9m :Em

@ (1) 14.82 (2) 30.9 @ (1) 14.83 (2) 30.9
® (1) 14.84 (2) 30.9 @ (1) 14.85 (2) 3.18
@) (1) 1456 (2) 3.18

(1) 13.7m + 1.16 m = 14.86( m)
(2) 0.28m +2.9m = 3.18(m)




(1) 3.6km +2607m =] Jkm
(2) 2130m + 0.49km = |km

@ (1) 6.217 (2) 2.52 @ (1) 6.217 (2) 2.62

@ (1) 6.207 (2) 2.52 @ (1) 6.207 (2) 2.61

O

®)(1) 6.207 (2) 2.62

(1) 3.6km + 2.607 km = 6.207(km)
(2) 2.13km + 0.49 km = 2.62(km)




